41501 D BXE DHE A AMIRE

7= miiEA

MR

BERENEHREMAEBESHITZSERE,
HBRFEEmERTLURBIRAHRE N,
BEXREERSEXESHRBLAES. IRETEHERN , TATFRX

%
FFARZRRRE , IOIRETHSHARS  ARTHRENTIREN
BEERMFME,

BERERPVERI  TUBHRERXENRFITLEIME,
BHITE : M12 = +1.0 mm, M16 = £1.5 mm.

R
BRI K Z TR R BN
g
BERNRXZTHLECNBEELAE,
B
EREEEMNHNEITALE TAAA LR ER , SUSBIRENTH
RERE
B -
B k8,
B E 842,
©
<L
=1L
: .
2 = :':Jr;ﬁ) &
; J
7 y B1
{ /_}
41501-0500412 D | BMIRE | 545 | 60,5 50 25 30| 125 35| M5 M12x25 30 85
41501-0720412 D | BEMIRE| 71 78 72 | 39,7 44| 213 | 35| M6 M12X40 30 85
41501-0720416 D | BEMIRE | 71 78 72 | 39,7 44| 21,3 | 35| M6 M16X40 50 150
41501-1000416 D | BMIKRE | 815 | 915 [ 100| 426 64| 216 | 5 M8 M16X40 50 150

© norelem www.norelem.com



